RODEeM"

PROCESS EQUIPMENT
www.rodem.com 800-543-7312

Spare Parts

Magnetic Mixer MM338

ESE02448-EN3 2015-02

Original manual







Table of contents

The information herein is correct at the time of issue but may be subject to change without prior notice

1. Component Drawings and Lists of Parts, Magnetic Mixer MM338 ...............ccvvieeen. 4



Component Drawings and Lists of Parts, Magnetic Mixer MM338

-2 and -3 versions

version 2 or 3

Pos. A: No fixing element cover



Component Drawings and Lists of Parts, Magnetic Mixer MM338

Parts list, Magnetic Mixer MM338
-2 and -3 versions

Pos Qty Denomination Item no. Size
1+ 0 IMP, PM338-4”"-HSA IMPELLER, new (20 Ramax) .............. 9634086378 4
o IMP, PM338-6”"-HSA IMPELLER, new (20 Ramax) .............. 9634086026 6
o IMP, PM338-4"-HSA-EP, new (20 Ra max plus Electro polish) ... 9634086513 4
o IMP, PM338-6"-HSA-EP, new (20 Ra max plus Electro polish) ... 9634086514 6
o MM338-IMPFB-REPAIR, R&R of female bearing ................. 9634086486  All
0 MM338-IMPFB-REPAIR-EP, R&R of female bearing +EP  ........ 9634089579  All
2 Male Bearing, YTZP (Zirconia Ceramic) .............covvvvviiinn 9634086107 -
3 Male Bearing Gasket, ISOLAST® PerFluoro Elastomer .......... 9634086109 -
4 Weld Plate, 316L Stainless Steel ...t 9634086405 -
5 0O Drive unit kit, see table below ...
51 0 DU flange, see table below ... -
52 0 Axle, seetable below ... -
5.3 Drive ROTOr -
5.4 SHCS, Stainless Steel  .......oooviiii M6x25
5.5 Y e N/A M4x16
5.6 Key, supplied with gear motor ..., N/A M5x20
6 ClamMID o 2.5”
7 0 Gear Motor code A, 3 X 230/460 VAC 60Hz .............oceeee 9634086551 0.5Hp
0 Gear Motor code B, 3 X 332/676 VAC 60Hz ..................... 9634086552  0.5Hp
o Gear Motor code C, 3 X 205/355 VAC 50Hz (OBS) .............. 9634086526  0.5Hp
o Gear Motor code D, 3 X 230/400 VAC 50Hz .......ccvvvnnnn. 9634086553  0.5Hp
71 Fixing Element, supplied with gear motor ........................ N/A -
7.2 SHCS, supplied with gear motor ..., N/A M5
Version Pos. 5 Pos. 5.1 Pos. 5.2
Drive unit kit DU flange Axle
-2, Stainless steel 9634086468 9634086455 9634086081
-3, extended version 9634086557 9634086560 9634086559




Component Drawings and Lists of Parts, Magnetic Mixer MM338

-6 and -7 versions

version 6 or 7

Pos. A: Fixing element cover



Component Drawings and Lists of Parts, Magnetic Mixer MM338

Parts list, Magnetic Mixer MM338
-6 and -7 versions

Pos Qty Denomination Item no. Size
1+ 0 - IMP, PM338-4”"-HSA IMPELLER, new 20 Ramax) .............. 9634086378 4
o - IMP, PM338-6"-HSA IMPELLER, new 20Ramax) .............. 9634086026 6
o - IMP, PM338-4"-HSA-EP, new (20 Ra max plus Electro polish) ... 9634086513 4
o - IMP, PM338-6"-HSA-EP, new (20 Ra max plus Electro polish) ... 9634086514 6
o - MMB338-IMPFB-REPAIR, R&R of female bearing ................. 9634086486  All
0 - MMB338-IMPFB-REPAIR-EP, R&R of female bearing +EP ........ 9634089579  All
2 - Male Bearing, YTZP (Zirconia CeramiC) ............ccooviiiiiiin. 9634086107 -
3 - Male Bearing Gasket, ISOLAST® PerFluoro Elastomer .......... 9634086109 -
4 - Weld Plate, 316L Stainless Steel ..........ccoooiviiiiiiiiinn. 9634086405 -
8 0O - Drive unit kit, see table below ... -
8.1 O - DU flange, see table below ................cooooo -
8.2 - DVE ROTOr o -
8.3 0 - Axle,seetable below ... -
8.4 0 - Fixing element guard, Stainless Steel ...............coooiiiia. -
8.5 - SHCS, Stainless Steel ... M6x20
8.6 - Key, supplied with Axle ... N/A M4x25
8.7 - Key, supplied with AXIe ..o N/A 3/16x1
8.8 - Washer, Stainless Steel ..........oooiiiiii M6
8.9 - SHCS, Stainless Steel ...t M6x8
9 0O - Gear Motor code A, 3 X 230/460 VAC 60Hz ...........ccovvnnn.. 9634093414  0.5Hp
= - Gear Motor code B, 3 X 332/675 VAC60Hz ...............cvitt 9634093416  0.5Hp
= - Gear Motor code D, 3 X 230/400 VAC50Hz .............oevvien 9634093418  0.5Hp
9.1 - Fixing element, supplied with gear motor ........................ N/A
9.2 - SHCS, supplied with gear motor ... N/A
Version Pos. 8 Pos. 8.1 Pos. 8.3
Drive unit kit DU flange Axle
-6, Stainless steel 9634093412 9634093288 9634093286
-7, extended version 9334093520 9634093287 9634093285




Component Drawings and Lists of Parts, Magnetic Mixer MM338

Identification of Magnetic Mixer version

All versions

The version of the Magnetic Mixer can be identified from the article number of the complete mixer.
We refer to order acknowledgement or delivery note on which the article number is stated.

Version 6 and 7

In addition to the article number, the version can also be identified from the description code on the plaque
(example version 6):

MM)|338|6|6|YZ|SA|05|A|C|EP

Article number overview

Version 2 & 3
Version 2 Version 3

Iltem numbers, complete mixer Iltem numbers, complete mixer
9614063809 9614063833
9614063810 9614063835
9614063813 (Extended flange)
9614063814
9614063817
9614063818
9614063821
9614063822
9614063825
9614063826
9614063829
9614063830

Note:
- Serial # is stated on the impeller

Version 6 & 7
Version 6 Version 7

Iltem numbers Iltem number

9614303401 9614307701

9614303402 (Extended flange)
9614303403
9614303404
9614303405
9614303406
9614303407
9614303408
9614303409
9614303410
9614303411
9614303412

Note:

- Serial # is stated on the plaque



Component Drawings and Lists of Parts, Magnetic Mixer MM338




How to contact Alfa Laval

Contact details for all countries are

continually updated on our website.

Please visit www.alfalaval.com to access the information directly.

© Alfa Laval Corporate AB

This document and its contents is owned by Alfa Laval Corporate AB and protected by laws governing intellectual property and thereto related rights. It is the responsibility of the user of this
document to comply with all applicable intellectual property laws. Without limiting any rights related to this document, no part of this document may be copied, reproduced or transmitted in any
form or by any means (electronic, mechanical, photocopying, recording, or otherwise), or for any purpose, without the expressed permission of Alfa Laval Corporate AB. Alfa Laval Corporate AB
will enforce its rights related to this document to the fullest extent of the law, including the seeking of criminal prosecution.



	toc
	Parts list, Magnetic Mixer MM338
	Parts list, Magnetic Mixer MM338



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile ()
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends false
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 524288
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo false
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo false
  /PreserveFlatness true
  /PreserveHalftoneInfo true
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts false
  /TransferFunctionInfo /Preserve
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages false
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages false
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages false
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /False

  /CreateJDFFile false
  /SyntheticBoldness 1.000000
  /Description <<
    /ENU ()
    /DAN ()
    /SVE ()
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [680.000 927.000]
>> setpagedevice


